Series AGBAB/C SET~2
................................................. T
o T 661612
fooll No ol T B W I g
: 4E-98 W ey ford |
. : Candidates must write the Q.P. Code on i
: the title page of the answer-book. :

=ﬁ'c’/NOTE
i) PSR AR E A a7

Please check that this question paper contains 7 printed pages.

1(ii) T-UA W ifed g1 Sl SR fu U yvE-uE wie 1 wdeneff Iw-gfedst % gE@-gy Wi
el
Q.P. Code given on the right hand side of the question paper should be Written§
: on the title page of the answer-book by the candidate. :
(i) o Sife ol o 58 yer-a #1299 # |

Please check that this question paper contains 12 questions.

(iv) uET g9 T ST fTEAT IE #E W ugd, ST-gfee § UvE w0 AT oava:
: ford |
Please write down the serial number of the question in the!:
answer-book before attempting it. :

i(v) 3 YE-UH W Ued & fo 15 e & ww fon mn R 1w o foaor qafg §:
10.15 &5t foRaT ST@ | 10.15 o191 & 10.30 991 % B hadl TA-I9 i T IR 34:
31afY o S o ITR-GFEhT W hIg I A4l foa@ | f
15 minute time has been allotted to read this question paper. The question§
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., thei

students will read the question paper only and will not write any answer on the:
answer-book during this period.

BUSINESS STUDIES [=] 50
Bt g 2 g AT 575 - 40
Time allowed : 2 hours Maximum Marks : 40

66/6/2 P.T..




EEE
[%

AT 3597 :
FHETITIEd 14397 @1 agad a1 @ 9igq 31 371 ] & qIci7 Bl :

(1)
(ii)

(i11)

(iv)

(v)

(vi)
1.

57 J97-95 7 12 F97 & |

Jo7 GEIT 1 - 4,2 3P & & | I5 TG-ITIT JHR & o7 & 9T 371 I
30 - 50 ¥r551 7 Fr |

Jo7 GEIT5 - 8, 3 3Pl & & | I8 TY-IFHNT FPR @ FoT & a7 FAHT I
50 - 80 3755  FfrT |

Y97 &A1 9 - 12, 5 3% & & | I8 JH-FHT JbR & I3 & TIT 37T FH
80 — 120 ¥15g1  FfrT |

J97-97 H HI3 GHY 3y 751 8 | AFT 3 37H & 1 Y97 F dA 5 3H &
2 Yol H 37aRke ey e 17 & /

37 J97-97 7 &G/ GId STIRT §97 & |

T IR T Ush oFfh hl Hi@H shl IHdl bl 3fd 3 aTell qhe Tl

T o YR hl Ug=H hIfIU qAT IHhT Iodd hifou |

YaY % 3T A hl g i qen IR 319 U S I8 "goaud wE °
Heg Hal 7 foh gl ome adis qun awgfss & an 7= |

Gfagfd soR % weredi w1 Ao’ wrdE gfayfd den faf | g
fremfea s famget 1 2 | 38 31 3 fashragul St #1 Sea@ T |
‘FUATNET 1 TR-IR TAFTIOT THAL TS shl IcUTEehdl @l HH Hdl 7, [
o STeRT 3T IATNeh ®9 § TR ol W3 & Tk 37=3 Fid & &9 H foman
ITar g | o 2 Toregl &1 RN T Ioid hitT |

39 kAt 1 AW T qeT IWRT Ieai@ hINT S USHT-EE & a forgent
39T Uk fafsrse s fvares & e =i & STevash hivrdl a A It
! FgH o foTe fopam ST 2 |

‘fospa & fow weare” o ‘sifeer fefe’ @ wofies SR # qu feiE f
el ISl (wettend) 1 faferi o &9 § gmemsv |

A JFg H T AT @ o JAEqAral H AHG G199 Y99 & €9 H B B
W 2 | 3W IEqarell o foaq 76 e we oft | 3Hes oY 3e sga-Hl
T{eITd qT |IETehR STRISIA fohT Qe SATegehl gRT & 15 T ol HcTH
feper | S1f=aw foter afdn fawm o @ 1 geig & ek fohem T |

B ol 481 <hl FIRE IfhAT 1 QU & o T 3@ off F© ifafcd =Tl
fsareT T ot |

T SO o T <IN d9T 38 GHETST |

66/6/2




EEE
[%

General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper contains 12 questions.

(it)  Questions Number 1 — 4 are of 2 marks. These are Short Answer Type
Questions and are to be answered in 30 — 50 words.

(iti) Questions Number 5 — 8 are of 3 marks. These are Short Answer Type
Questions and are to be answered in 50 — 80 words.

(iv) Questions Number 9 — 12 are of 5 marks. These are Long Answer Type
Questions and are to be answered in 80 — 120 words.

(v) There is no overall choice in the question paper. However, internal choice
has been given in 1 question of 3 marks and 2 questions of 5§ marks.

(vi)  This question paper contains Case/Source Based questions.

1. Identify and state the type of test to be conducted in the selection process

that is an indicator of a person’s learning ability. 2
2. Identify and give the meaning of the function of management that helps

in verifying whether the standards set are accurate and objective or not. 2
3. ‘Training of intermediaries of the securities market’ is a development

function performed by Securities and Exchange Board of India. State two

other development functions. 2
4, ‘Frequent transfer of employees often reduces the productivity of the

organisation, still it is being used as a good source of filling the vacancies

internally.” Why ? State any two reasons. 2
5. Name and state the process which is job-oriented and is used to increase

the skills and abilities of employees to perform a specific job. 3

6. Explain ‘Offer for Sale’ and ‘Rights Issue’ as methods of floatation of new
issues in the primary market. 3

7. Hemant is working as a Human Resource Manager in AO chain of
hospitals in Mumbai. He had to appoint nurses for the hospitals. For this,
he has conducted various tests and interviews and verified the
information of the applicants. The final decision has been made in
consultation with the heads of the nursing department.

Hemant still has to take some more steps to complete the process of
appointment of nurses.

Name and explain these steps. 3
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(i) SO (1) H YgI U fod geyes & (ol @ uvifed s e
1A Tohegl & Rl o1 o hITIT | 2+3=5
areran
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8. (a)  Give the meaning of formal and informal communication. 3
OR
(b)  Explain the first two steps in the process of controlling. 3
9. (a) State any five reliefs available to a consumer as per the Consumer
Protection Act, 2019. 5
OR

(b)  Explain the following rights of a consumer as per the Consumer

Protection Act, 2019 : 5
(1) Right to Safety

(i1))  Right to Consumer Education

10. Explain ‘Commercial Bill’ and ‘Certificate of Deposit’ as instruments of
‘Money Market’. 5

11. (a) ‘A.M. Motors Ltd.’ is a leading company in car manufacturing. Due
to the changing environment and initiatives taken by the
Government of India, the company wants to enter into
manufacturing of e-cars also. For this project the company requires
T 2,000 crore. But before purchasing the machines and other
assets, the finance manager has to assess the degree of risk
involved in the project as this type of decision affects the earning
capacity of the business over the long run. Besides this, there are
various other factors which may affect this decision of the finance

manager.
(1) Identify and state the financial decision discussed in the
above para.

(ii)  State any two factors that may affect the decision of the
finance manager identified in (i) above. 2+43=5

OR
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ATIIIRHATI ohl TqT(ed hid 1A Tohral i hHehl hl T <hifolT qor
3T It HIfT | 5

12. o U gied | yaYs & €9 H HE w & Al | Hifds-19 & THT 3THT USR
TAT T | A 3T YT W T HISHTAT AR Toham S TT-gfcliersh ik ol
TG 1A @HT Y& Al 8 | SHhT WISHIAT Thad (&1 9971 98 3TTT o1 T
@l oft | 3= &30 o A Sl AT YI-AfdUEeh Ak SGH I @H % AT 5
o 3o i fafye wrst | 9 oo ey 9 w1 famm foean | sEes o,
39 @ Jaghi i TgRE i | 387 Al JeYei P FarT b T%a 8 & o
3Ig Y rafd el § i i ITd AN Bl 34k ¢RI ThU I Il i o
fowT o ArieR T AET, 38 % HET & dAT 3¢ 34 Hd ST 8 | 394 I8
ft Sfre1 foh hadt foamll STeran g1 1 TAFO T T8l 7, I8 AE9IH 8
fp 376 gr feu o fdsn =1 ytom wE ufew ® fopan Su, qrfes ded 31
3eTF1 Dl T L Toh | HHATRAT o (SITET TR I IRH & ToIT 384 g
fean o6 AT o S8R % HRON I A T I TGS 1 o e
TEU | G139 o ALAT bl TIfed o oAU 33 Aefiaeen <kl difod 9 9 & wA
& fou dumr e =R |

(%) IIH 3IDg H Afd Y99 o B hl TgaH hilWT qAT IHHI Iocid@

HIfT |
(@) 3IW® (%) H 9g9H T SR & Te@ h fohral M fag3ll Hl Ieai@
i | 2+3=5
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(b) ‘R.K. Fertilisers Ltd.” has planned to set up a plant for
manufacturing urea fertiliser which has very high market
potential as there is excess demand as compared to supply. The
company is planning to operate at a higher scale which will require
a bigger plant, more space, etc. The company has also planned to
replace its plant and machinery as the same are prone to
obsolescence with the change in technology. To meet the growing
demand of fertilisers that may result in increase in profits, the
company is also planning to diversify its operations. It wants to
enter in the area of cement manufacturing. Thus, it is a capital
intensive project involving an investment of ¥ 3,000 crore.

Identify and state any five factors affecting the fixed capital
requirements of ‘R.K. Fertilisers Ltd.” discussed in the above para. 5

12. Riya was working as a manager in a hotel. During COVID-19 she lost her
job. Now she has started her own restaurant which was providing
immunity-boosting food. Her restaurant was a success and she was
earning a good profit. To benefit the people of other areas with her
immunity-boosting food, she thought of starting three restaurants in
three different cities. For this, she appointed three managers. She told all
the managers that to be successful it is necessary that they should guide
the people working in their respective teams about the work to be done
by them, when they should do it and how they should do it. She also
added that mere transfer of views or information is not sufficient, it is
necessary that their instructions are implemented in the proper
perspective, so that the organisation may achieve its objectives. To
improve the performance level of employees, she suggested that they
develop insights into causes of behaviour of people. They have to make
subordinates act in a desired manner to achieve organisational goals.

(a) Identify and state the function of management discussed in the
above para.

(b)  State any three points of importance of the function identified in
(a) above. 243=5
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